
UPDATE 

 

 

  Page 1 of 1  

  

  
  
-S

  
 E

  
 R

  
 V

  
 I

  
 C

  
 E

  
  

  
U

  
 P

  
 D

  
 A

  
 T

  
 E

  
  

  
  

 -
--

S
  

 U
  

 1
  
 3

  
 0

  
 4

-

--
--

  
  

 

WARNING:  Always follow all Federal, State, Local and Shop safety standards and use proper 

safety equipment when performing any procedure.  

 

Models Affected: 2011-2014 D3RE All American with Cummins ISB/ISC 2010 emissions 

engines. 

 

Beginning in March of 2013, Blue Bird will have available an AKG radiator kit that can be used 

to replace the factory installed JB radiator if desired. Installation diagrams will be included with 

the kits. 

 

For buses with Cummins ISC engine: 

10033193 RADIATOR/CAC ASSY,ENG,AKG SERVICE KIT,ISC10,D3RE 
Item 

# Part # Description Qty 

1 10031581 TUBE,RADIATOR,UPPER,ISC/L                          1 

2 10031580 PIPE,CAC,TO TURBO OUT,ISC/L                        1 

3 10004958 PANEL,CLOSEOUT,REAR,RADIATOR TO BODY D3RE          1 

4 10004957 PANEL,CLOSEOUT,FRONT,RADIATOR TO BODY D3RE         1 

5 10004956 PANEL,CLOSEOUT,LOWER,RADIATOR TO BODY D3RE         1 

6 10004955 PANEL,CLOSEOUT,UPPER,RADIATOR TO BODY D3RE         1 

7 10002152 RADIATOR/CAC ASSY,ENG,AKG 3862.015.0000 CAST  D3RE 1 

8 02028280 CAPSCREW,HEX HD,5/16-18X5/8,GR5,YEL ZN DICH        8 

9 02001188 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN DICH        8 

10 02001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZNDICH        14 

11 01480433 NUT,HEX HD,5/16-18,FLG PRVG TORQ,GR F,YDICH        6 

12 01068501 SEAL,RUBBER,A/C HOOD TRIM                          2 FT 

13 00854406 CAPSCREW,HEX HD,5/16-18 X 1,GR8,YEL ZN DICH        6 

14 00063055 SEAL,DOOR,.50 BULB X 1.90 FLG MT,UNI-GRIP          11 FT 

 

For buses with Cummins ISB engine: 

10033194 RADIATOR/CAC ASSY,ENG,AKG SERVICE KIT,ISB10,D3RE   
Item 

# Part # Description Qty 

1 10031583 PIPE,CAC,TO TURBO OUT,ISB13                        1 

2 10031582 TUBE,RADIATOR,UPPER,ISB13                          1 

3 10004958 PANEL,CLOSEOUT,REAR,RADIATOR TO BODY D3RE          1 

4 10004957 PANEL,CLOSEOUT,FRONT,RADIATOR TO BODY D3RE         1 

5 10004956 PANEL,CLOSEOUT,LOWER,RADIATOR TO BODY D3RE         1 

6 10004955 PANEL,CLOSEOUT,UPPER,RADIATOR TO BODY D3RE         1 

7 10002152 RADIATOR/CAC ASSY,ENG,AKG 3862.015.0000 CAST  D3RE 1 

8 02028280 CAPSCREW,HEX HD,5/16-18X5/8,GR5,YEL ZN DICH        8 

9 02001188 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN DICH        8 

10 02001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZNDICH        14 

11 01480433 NUT,HEX HD,5/16-18,FLG PRVG TORQ,GR F,YDICH        6 

12 01068501 SEAL,RUBBER,A/C HOOD TRIM                          2 FT 

13 00854406 CAPSCREW,HEX HD,5/16-18 X 1,GR8,YEL ZN DICH        6 

14 00063055 SEAL,DOOR,.50 BULB X 1.90 FLG MT,UNI-GRIP          11 FT 

 

All American Rear Engine 

Radiator Service Kit 

 


